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COMPOUND INTEREST WORK SHEET  
 

BOOK SOURCE SPLIT UP  
 

TITLE STD NEW 
OLD 

TERM Exercise 

 
Compound Interest  

8 OLD 3 1.4, 1.5, 1.6 

8 NEW 2 1.3 

R.S.AGGARWAL  
(2020 Edition) 

Page No: 663 - 687 

 
Important points : 
 
When money is borrowed or deposited on simple interest, then the interest is 
calculated evenly on the principal throughout the loan or deposit period. 

 
The following formulae will be helpful in calculating the compound interest easily 
for the following periods.  
 

1. When the interest is compound annually, we have  

   1
100

n
r

A P
 

  
 

 

 where A is the amount, P is the principal, r is the rate of interest per annum 
 and n is the number of years and we shall get Compound Interest = Amount 
 – Principal. 
  

2. When the interest is compounded half yearly, we have  

   
2

1
200

n
r

A P
 

  
 

 

3. When the interest is compounded quarterly, we have  

    
4

1
400

n
r

A P
 

  
 

 



 

2 | P a g e                                   APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 

4. When the interest is compounded annually but rate of interest differs year 

by year, we have 1 1 1
100 100 100

a b c
A P

     
        

     
..... 

 where a, b and c are interest rates for I, II and III years respectively 
 

5. When interest is compounded annually but time is in fraction say a
b

c
 years, 

we have   1 1
100 100

a
b

r
r cA P

 
  

    
   

 

 

 

 If a sum of money doubles in n years, then it will become m times in (m-1) × n 
years, if simple interest is applied.  
 

 If a sum of money becomes m times in n years, then it will become ma times in 
an years if compound interest is applied.  
 

 Difference between the compound interest and the simple interest on a sum 

for 4 years at r% p.a is Pi2 (6 + 4i + i2) where i = 
100

r
  

 
1. The value of a motor cycle 2 years ago was ` 70,000.  It depreciates at the rate 

of 4% p.a. Find its present value. 
xU ,U rf;fu thfdj;jpd; tpiy 2 Mz;LfSf;F Kd; ` 70000Mf ,Ue;jJ.  
mjd; kjpg;G Mz;LNjhWk; 4% tPjk; FiwfpwJ vdpy;> mjd; jw;Nghija 
kjpg;igf; fhz;f.  
a. ` 65418  b. ` 75416  c. ` 64512  d. ` 60720 
 

2. The bacteria in a culture grows by 5% in the first hour, decrease by 8% in the 
second hour and again increases by 10% in the third hour.  Find the count of 
the bacteria at the end of  3 hours., if its initial count was 10000. 
xU ghf;Bupah> KjyhtJ xU kzp Neuj;jpy; 5% tsu;r;rpAk;> ,uz;lhtJ 
kzp Neuj;jpy; 8% tsu;r;rpf; Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% 
tsu;r;rpAk; milfpwJ.  Kjypy; mjd; vz;zpf;if 10000Mf ,Ue;jJ vdpy;> 
%d;W kzp Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f. 
a. 5323  b. 7437  c. 8076  d. 10626 
 

3. Find the difference in C.I and S.I for P = ` 5000, r = 4% p.a, n=2 
jdp tl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f. 
P = ` 5000, Mz;L tl;b tPjk; = 4%, n=2 Mz;Lfs; 
a. ` 4  b. ` 6   c. ` 8   d. ` 10 
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4. Find the difference in C.I and S.I for 
P = ` 8000, r =5% p.a, n=3 
jdp tl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f. 
P = ` 8000, Mz;L tl;b tPjk; = 5% , n=3 Mz;Lfs; 
a. ` 81  b. ` 61  c. ` 41  d. ` 20 
 

5. The compound interest on 5000 at 12% p.a for 2 years compounded annually 
is? 
` 5000f;F 12% Mz;L tl;bapy;> 2 Mz;LfSf;F> Mz;Lf;nfhUKiw tl;bf; 
fzf;fplg;gl;lhy;> fpilf;Fk; $l;L tl;b? 
a.  ` 1272  b. ` 1790  c. ` 1100  d. ` 1152 
 

6. Find the compound interest on ` 3200 at 2.5%p.a for 2 years, compounded 
annually. 
` 3200f;F  2.5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 
Kiwapy;>  2 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a.  ` 150  b. ` 180  c. ` 162  d. ` 140 
 

7. A principal becomes ` 2028 in 2 years at 4% p.a compound interest.  Find the 
principal. 
Xu; mryhdJ 2 Mz;Lfspy; Mz;Lf;F 4% $l;L tl;bapy; ` 2028Mf MfpwJ 
vdpy;> mriyf; fhz;f. 
a.  ` 1500  b. ` 1650  c. ` 1758  d. ` 1875 
 

8. The compound interest on ` 8000 at 10% p.a for 1 year, compounded half 
yearly is? 
` 8000f;F 10% Mz;L tl;bapy;> Xu; Mz;Lf;F> miuahz;Lf;F xUKiw 
tl;bf; fzf;fplg;gl;lhy;> fpilf;Fk; $l;Ltl;b? 
a.  ` 720  b. ` 820  c. ` 920  d. ` 700 
 

9. Magesh invested ` 5000 at 12% p.a for one year.  If the interest is 
compounded half yearly, find the amount he gets at the end of the year. 
kNf~; vd;gtu; ` 5000I Mz;Lf;F 12% tl;b tPjj;jpy; Xu; Mz;Lf;F KjyPL 
nra;jhu;.  miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> tUl ,Wjpapy; 
mtu; ngWk; njhifiaf; fhz;f. 
a. ` 5,500  b. ` 5,750  c. ` 5918  d. ` 5,618 
 

10. Find the C.I on ` 15,000 for 3 years if the rates of interest are 15%, 20% and 
25% for I, II and III years respectively. 
I, II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 25% 
vdpy; ` 15,000f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. ` 10,850  b. ` 10,875  c. ` 10,800  d. ` 10,810 
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11. What is the difference in simple interest and compound interest on ` 15,000 

for 2 years at 6% p.a compounded annually. 
` 15,000f;F 6% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy; 
2 Mz;LfSf;Ff; fpilf;Fk; jdptl;bf;Fk; $l;Ltl;bf;Fk; ,ilNaAs;s 
tpj;jpahrk; vd;d? 
a. ` 44  b. ` 54  c. ` 64  d. ` 34 
 

12. Find the rate of interest if the difference between C.I and S.I on ` 8000 
compounded annually for 2 years is ` 20. 
` 8000f;F> 2 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; ,ilNa 
cs;s tpj;jpahrk; ` 20 vdpy;> tl;b tPjj;ijf; fhz;f. 
a.  3%  b. 4%   c. 5%   d. 6% 
 

13. Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 
years is ` 1134. 
15% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; ` 1134 vdpy;> mriyf; fhz;f. 
a.  ` 15,000  b. ` 20,000  c. ` 17,000  d. ` 16,000 
 

14. The difference between simple and compound interest on a certain sum of 
money for         2 years at 2% p.a is ₹ 1. The sum of money is? 
2% Mz;L tl;bapy;> 2-Mz;LfSf;F xU mrYf;Ff; fpilj;j $l;L tl;bf;Fk;> 
jdp tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; ₹ 1 vdpy;> mry; MdJ? 
a. ` 2,000  b. ` 1,500  c. ` 3,000  d. ` 2,500 
 

15. Find the rate of compound interest at which a principal becomes 1.69 times 
itself in            2 years. 
Xu; mryhdJ> $l;L tl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.69 klq;F 
MfpwJ vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 20%  b. 25%  c. 30%  d. 40% 
 

16. Find the principal which gives ₹  420 as C.I at 20% p.a, compounded half 
yearly for one year. 
miuahz;Lf;F xU Kiw tl;b fzf;fpLk; Kiwapy;> Mz;Lf;F 20% tl;b 
tPjj;jpy;> $l;L tl;bahf ₹  420 fpilf;Fk; vdpy; mriyf; fhz;f. 
a. ` 20,000  b. ` 10,000  c. ` 1,000  d. ` 2,000 
 

17. Ramlal deposited ₹  8,000 with a finance company for 3 years at an interest of 
15% per annum. What is the compound interest that Ramlal gets after 3 
years? 
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,uhk;yhy; vd;gtu; ₹  8,000I> 15% $l;Ltl;b jUk; xU epjp epWtdj;jpy; 
KjyPL nra;jhu; vdpy;> %d;W Mz;Lfspy; mtUf;F vd;d $Ljy; njhif 
fpilf;Fk;?  
a. ` 4,167  b. ` 4,500  c. ` 4,000  d. ` 5,000 
 

18. Find the C.I. on ` 15,625 at 8% p.a. for 3 years compounded annually. 
` 15,625f;F Mz;L 8%tl;b tPjk; vdpy;> 3 Mz;LfSf;Ff; $l;L tl;b 
fhzTk;. 
a. ` 4,000  b. ` 4,500  c. ` 4,058  d. ` 4,098 
 

19. In how much time will a sum of ` 1600 amount to ` 1852.20 at 5% per annum 
compound interest. 
` 1600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jjid Mz;Lfspy;   
` 1852.20 MFk;? 

a. 2 years  b. 2 
1

2
 years  c. 3 years  d. 4 years 

 
20. The value of a machine depreciates at 10% per year. If the present value is ì 

1,62,000. What is the worth of the machine after two years?  
xU ,ae;jpuj;jpd; jw;Nghija kjpg;G ì 1,62,000. xt;nthU Mz;Lf;Fk; 
,ae;jpuj;jpd; kjpg;G 10% FiwfpwJ. vdpy;> ,uz;L Mz;Lfs; fopj;J 
,t;tpae;jpuj;jpd; kjpg;G vd;d?  
a. ì 1,29,600  b. ì 1,30,600   c. ì 1,31,600  d. ì 1,31,220   
  

21. Calculate the compound interest on ` 9,000 in 2 years when the rate of 
interest for successive years are 10% and 12% respectively. 
xU njhiff;F mLj;jLj;j Mz;LfSf;F KiwNa 10% kw;Wk; 12% tl;b 
tPjj;jpy; ` 9>000f;F 2 Mz;LfSf;F njhlu; tl;b vt;tsT? 
a. ` 1,188  b. ` 2,088   c. ` 4,396  d. ` 2,396 
 

22. A sum invested under compound interest doubles itself in 10 years.  In how 
many years will it becomes 8 times of the initial amount? 
$l;L tl;b Kiwapy; KjyPL nra;ag;gl;l xU njhifahdJ 10 Mz;Lfspy; 
,ul;bg;ghfpwJ vdpy; njhlf;f mriyg; Nghy; 8 klq;fhf vLj;Jf; nfhs;Sk; 
tUlk; vt;tsT? 
a. 80 years  b. 40 years   c. 30 years  d. 20 years 
 

23. The difference between the compound interest and simple interest accrued 
on an amount of ì 18,000 in two years is ì 405. Then the rate of interest per 
annum is  
,U tUlq;fspy; ì 18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; 
tpj;jpahrk; ì 405 vdpy; tUltl;b tPjk;  
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a. 12%  b. 15%    c. 18%  d. 10%    
 

24. Find the compound interest on ` 6250 at 14% per annum for 2 years. 
Compounded annually. 
mry; ` 6250MdJ 14% $l;L tl;b Kiwapy; 2 Mz;LfSf;F tplg;gl;lhy;> 
mjw;fhd $l;L tl;b kjpg;G ahJ? 
a.  ` 1670.40 b. ` 1525.50  c. ` 1872.50  d. ` 1175.50 
 

25. What will be the compound interest accrued on a sum of ` 7200 at a rate of 
5% per annum in 2 year? 
5% tUl tl;b tpfpjj;jpy; ` 7200f;F ,uz;L tUlj;jpy;; fpilf;Fk; $l;L 
tl;b vt;TsT? 
a. ` 738  b. ` 1738  c. ` 1268  d. ` 648 
 

26. At what rate percentage p.a. will  ` 5625 amount to ` 6084 in 2 years at 
compound interest? 
ve;j $l;L tl;b tPjj;jpy;> ` 5625 MdJ 2 Mz;Lfspy; ` 6084 Mf khWk;? 
a.  4%   b. 5%   c. 10%   d. 6% 

 Solution: 

  Amount (A) = 1
100

n
r

P
 
 

 
 

      6084 = 5625 
2

1
100

r 
 

 
 

              
2

1
100

r 
 

 
= 

6084

5625
 

 Taking square root on both sides, 

1
100

r
  = 

78

75
 

          
100

r
 = 

78

75
 - 1  

    
100

r
 = 

1

25
 

      r = 4% 
 

27. The time taken for ₹  4400 to become ₹  4851 at 10%, compounded half yearly 
is? 
10% Mz;L tl;bapy;> miuahz;Lf;nfhUKiw tl;bf; fzf;fplg;gl;lhy;> ₹  

4400 MdJ ₹  4851Mf vj;jid Mz;L MFk;? 

a. 1 year  b. 1 
1

2
years  c. 2 years  d. 2 

1

2
years 

     Solution: 
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  P = Rs. 4400 
  A = Rs. 4851 

  r = 10% = 
10

2
 = 5% 

A = 
2

1
100

n
r

P
 
 

 
 

            4851 = 4400 
2

5
1

100

n

 
 

 
 

    = 4400 
2

100 5

100

n
 

 
 

 

 
4851

4400
 = 

2
105

100

n

 
 
 

 

          

2
21

20

n

 
 
 

 = 
441

400
 

          
2

21

20

n

 
 
 

 = 
2

21

20

 
 
 

 

                 2n = 2   
                   n = 1 
 

28. A sum of money becomes ₹  18000 in 2 years and ₹  40500 in 4 years on 
compound interest. Find the sum. 
Xu; mryhdJ $l;L tl;b Kiwapy;> 2 Mz;Lfspy; ₹  18000MfTk;> 4 
Mz;Lfspy; ₹  40500MfTk; MfpwJ vdpy;> mriyf; fhz;f. 
a. ` 8,000  b. ` 6,000  c. ` 5,000  d. ` 9,000 

 Solution: 

Amount (A) = 1
100

n
r

P
 
 

 
 

 18000 = 
2

1
100

r
P
 
 

 
 

       
2

1
100

r 
 

 
= 

18000

P
 

      
4

1
100

r 
 

 
 = 

2
18000

P

 
 
 

    (1) 

Now, 40500 = 
4

1
100

r
P
 
 

 
   (2) 

Sub. (1) in (2) 

 40500 = P 
2

18000

P

 
 
 
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         P = 
18000 18000

40500


 = Rs. 8000 

 

29. Find the compound interest on ` 20,000 at 15% per annum for 2 
1

3
 years. 

` 20,000f;F Mz;L 15% tl;b tPjj;jpw;F 2 
1

3
Mz;LfSf;Ff; $l;L tl;biaf; 

fhz;f. 
a. ` 7,700  b. ` 7772.50  c. ` 7892.50  d. ` 7900 

 Solution: 

  P = Rs. 20000, r = 15%, n = 
1

2
3

 years 

A =  
2

1
100

r
P
 
 

 

1
1

3 100

r  
   

  
 

    = 
2

15
20000 1

100

 
 

 

1 15
1

3 100

  
   

  
 

    = 20000   
23

20
   

23

20
   

21

20
 = Rs. 27772.50  

         C.I = 27772.50 – 20000 = Rs. 7772.50 
 

30. At what rate per annum will ` 640 amount to ` 774.40 in 2 years, when 
interest is being compounded annually? 
` 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif ` 774.40 MFk;.  $l;L tl;b 
tPjk; fhz;f.  (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ) 
a.5%   b. 10%  c. 15%   d. 8% 

 Solution: 

Amount = 1
100

n
r

P
 
 

 
 

    774.40 = 640 
2

1
100

r 
 

 
 

       
7744

10
 = 640 

2

1
100

r 
 

 
 

    
7744

6400
 = 

2

1
100

r 
 

 
 

      
2

88

80

 
 
 

 = 
2

1
100

r 
 

 
 

     1
100

r
  = 

88

80
 

         
100

r
 = 

88

80
 - 1  
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100

r
 = 

8

80
 

           r = 10% 

 
COMPOUND INTEREST Work Sheet 

Answer Key  

1 2 3 4 5 6 7 8 9 10 

C D C B A C D B D B 

11 12 13 14 15 16 17 18 19 20 

B C D D C D A C C D 

21 22 23 24 25 26 27 28 29 30 

B C B C A A A A B B 

 
 

 

 


